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k'/rf}+*L gu/kfnLsf a}t*L

cf= j= 2074.075

3 g+ j*f sfof{no Gjfb]psf] of]hgf tyf ah]^ sfo{s|d
s|= ;+= sfo{s|d÷ultljlw ljlgof]lht /sd ?=

1 v]ns"b d}bfg,z}lIfs ;fdfu|L,afnd}qL sfo{s|d,afnlajfx z"Go sfo{s|d, 1028000

2 24 #G^] ;"/lIft k|;"tL ;]jf lg/Gt/tf,aly{+u ;]G^/ ;'b[l(s/)f 1028000

3 l;kd"ns tflnd tyf ;/;kmfO so{s|d 842000

4 kf];fs tyf lgz"Ns pkrf/ sfo{s|d -h]i& gful/s_ 363000

5 s"v"/f kfng, afv|fkfng, cfocfh{g sfo{s|d 337000

6 :ofpn] kftn b]vL hf]Uof}*f;Dd l;rfO s"nf] 421000

7 #^\^]vf]nf b]vL e^\\^f* l;rfO s"nf]dd{t 252000

8 cu""jf ls;fgkf]lnxfp; tyf laplahg 168500

9 ;fkm]ahf/ rf}tf/f] lgdf{)f 67400

10 ejfgL:yfg df=la= #]/af* lgdf{)f 421000

11 gaHof]tL k|f=la af;sf] lkmN* lgdf{)f 210000

12 e"ld/fh k|f=la=%fgf dd{t vf=kf=dd{t 252000

13 u}/fufp b]vL sf]^d"gL k|f=la= x"b} ;ko;Ddaf^f] lgd{)f 396000

14 wf?nLagsf*faf^ n"xf/Lufp,sf]^Nsf,lahl/vf* vf=kf= 674000

15 Gjfb]p,Pl/ddlGb/ ;tLd;fg #f^df vf=kf=of]= 463000

16 d%folgd"naf^ kf]v/f,cG^fk"/,e};}vs{,lgglgwf/,vf=kf= 590000

17 dGgf/l;/f*af^ gfsfnL,zdf{nL kgTof}*f vf=kf= 1263000

18 lj)f]Zj/ df lj %fgf dd{t 421000

19 ef*L ;}g uf]/]^f]af^f] lgdf{)f / b"uf{ lgdflj #]/jf/ 581000

20 ;]nLs;f* h]anwf/ vf=kf= lgdf{)f 590000

21 j*f sfof{no b]lv rf]/df/] ;Dd af^f] lgdf{)f 67400

22 s"zHjfnf ejg zf}rfno lgdf{)f 100000

23 rggkfgL vf=kf=^+sL lgdf{)f 100000

24 vf=kf=dd{t tyf klx/f] /f]sYffd 200000

25 ;dfof]hg sf]if 364700

26 hDdf 11200000
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